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Section -1

?.Discflss advantages of DBMS over File Processing System.

' Explain,;Different levels of Data Abstraction with pro o

OR

What is key in DBMS? Explain Super key, Candidate d

Priméry key with proper example.
Write and Explain different application of Data

Explain foreign key constraints with suifa

features

Explain natural join and outer joi

proper ¢

What do you mean by T
Explain any four fu’d enta

Null v Now the various relational algebra
ns d ith
index, vie

example.

What is
operatio

Explain

) 4

of foreign key.

xample.

L 4

&

tems .

ample. Also write

alues.

d sequence with proper syntax.
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Que. -5

Que. -6
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- Weak Entity Set, Aggregation of rélatiqf;§hip set' |

- s ~ Section - II
Explain phases of database design. '

Define following:

OR
Discuss various physical storage mediunis with ‘hierarqh:ical Hiagram. .
Explain RAID levels. ; 1 .

What is Functional Dependency? Explain closure sg:t of F un@tiQ;rxal
Dependency. ‘ WG & e
Explain BCNF with exam;;lé. ; |
OR
Explain following:

2NF and 3NF with example

Explain following:

06 -

etic disks
ite any six SQL query 12
attribute)

Lossless decomposition, physical characteristi

Consider the employee data of sales co

for the following: (underline indicates

Employee(Emp-ID, Emp-Name, ;
Works(Emp-ID, Branch-Nam 5

Sales(Order-ID, product, O
Branch(Branch-Nam

Manages(Manager- , Emp-Name)

1. Find the ees who works in ‘Delhi’ city.
2. Find the n itics of residence of all employees
n 15000 to 25000.

in the database who do not managed by L

ager -
4. Fi&e] number of orders by each employee.

Find n@e of employee who has given maximum discount on
-14.

whose s isb

Create unique index on “city” attribute.
7. Increment salary by 2000 of each employece whose number of

sales orders are greater than 500.
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